V00£~YOSERMEESES 30

Nid LHOIVYLS 1NN L3AIY 30

PR5-80A-047 PR5-80A-048 PR5-80A-049
—10.0— jaa|
r f—10.0—{
o || AR o | & i ]
2| =T 5 1©) &
: O & | 3
£CA LAYOUT I
wF  —10.5—
4 4547
& [ "4 | ™
Q0 & S
L b 3 T_—:-‘l.é? P
o i 4—2,01%_5[1 T 2 B
50 60 Lo ] e I 4-30 4
RS #(Technical Data) ¥ ARS¥(Technical Data) ¥ ARS¥(Technical Data)
@ BE(Center Space) 6.0x9.0mm 18 BE(Center Space) 6.0x8.8mm Bl BE(Center Space) 6.4x9.8mm
i (Rated Current) 80A i iR (Rated Current) 80A $E#ift(Rated Current) 80A
[E£484T(Screw) M4 [E£484T(Screw) M4 [E£3484T(Screw) M4
184%i%F (Terminal Body) Brass, Tin Plated 18424 F (Terminal Body) Brass,Tin Plated 1238 F (Terminal Body) Brass, Tin Plated
#24T414E(Screw Torque) 14 Ibf - in #B4THI4E(Screw Torque) 14 Ibf + in 424T41%5(Screw Torque) 14 1bf + in
PR5-80A-113 PR5-80A-050 PR5-80A-051
12,0— 150 ‘ ﬁl‘_‘l OO
i H L
2 M4EALEE . - T
= 4 9,
M4 EALFFE —9,0— [1__]
|
S &
X [~ -
T o = B |
Ij=—1.2 M 12 j T_ 1.00 [ \ [ ‘
LJU. 8—1 4205, 10.8 805 l——u.oa——l 200 4,qu—
RS ¥ (Technical Data) RS #(Technical Data) ¥ RE¥(Technical Data)
i8] #E(Center Space) 5.0x10.8mm i8] E(Center Space) 5.0x10.8mm B EE(Center Space) 4.5x14.0mm
FERifi(Rated Current) 80A FAE i (Rated Current) 80A FEHif(Rated Current) 80A
JE£%4R4T(Screw) M4 [E£244T(Screw) M4 [E£Z424T(Screw) M4
JR 425 F (Terminal Body) Brass,Tin Plated 12HEHF (Terminal Body) Brass,Tin Plated 1242 HF (Terminal Body) Brass,Tin Plated
4R4THH4E(Screw Torque) 14 1bf - in #R€THH4E(Screw Torque) 14 1bf « in #24THI%5(Screw Torque) 12 Ibf + in

041/

PCBiR/IRim 71Tk, BEKRL, HEERES, FRAITHEHEIAT(ZPCS

PR5-80A-052

10.0

10.60—-1

= O

PCB LAYOUT
260

L

5 EALEH

1,80~

g0

10,00

PR5-80A-053
F_IE.DO—— _EI |:|
é é_ PCB LAYOUT
T Loy
500 §

M5 EALGH ‘-—10.00——]

PR5-100A-019

——11.70——

e A
, | (D
S . 8 3
~-120 J a 20 E:H,SO L m
kvl-—lo,so—l 4-a00 és.ou—-l l——xo.eo—] ‘_E‘OOJI 8.00 _J I-—JD.SD—J - m,ao—-l E
¥ RS¥(Technical Data) #ARS¥(Technical Data) FARE#(Technical Data)
8  BB(Center Space) 8.0x10.8mm i8] BB(Center Space) 8.0x10.8mm i@l BE(Center Space) 10.0x10.5mm
S s if(Rated Current) 80A #izE s ifi(Rated Current) 80A #ize s ift(Rated Current) 100A
[E££4847(Screw) M5 [E£:484T(Screw) M5 [EL48£7(Screw) M5
124248 T(Terminal Body) Brass,Tin Plated 1RIEH T (Terminal Body) Brass,Tin Plated 124£3%F (Terminal Body) Brass, Tin Plated
$B4TH4E(Screw Torque) 24 Ibf - in $B4THI4E(Screw Torque) 24 1bf + in #R4THIAE(Screw Torque) 24 Ibf « in
PR5-100A-020 PR5-100A-045 PR5-100A-046
(3
L=
—o— 1
r' f [——2200—— FD ] 2200 ] O
8 oo Larout g [ T T
g ¥ o 8| ecaiavour l U ] I
n L 4.10 L S @ s § @ § poa LAvout
i =i AT et A
et L o H =
SFEHUES 12,00 SEsXI0sE 0 B Fouxconme "0 0
‘ I M) g ] L
] B uld — §
o ¥ T — =] E]
=150 L 2.00 L‘“.:‘. U_‘f 5
L [ 8 20001 390 550 200 U_‘?’
L—1a5a—-| e L—e,so_-l ki 8 L—zp00— 39550
¥ RS % (Technical Data) AR S ¥ (Technical Data) HARE¥(Technical Data)
B  E8(Center Space) 8.5x12.5mm B B5(Center Space) 9.5*20.00mm B $B(Center Space) 9.5*20.00mm
#ZE Rifi(Rated Current) 100A EErE(Rated Current) 100A £EFEiAi(Rated Current) 100A
[E4#84T(Screw) M5 [ELRARET (Screw) M5 [EZARET(Screw) M5
18125 F (Terminal Body) Brass, Tin Plated #8428 F (Terminal Body) Brass, Tin Plated $RBEF (Terminal Body) Brass, Tin Plated
$24THI4E (Screw Torque) 24 Ibf + in SREFHAE(Screw Torque) 241df- in AREHAE(Screw Torque) 55 1df - in

. 1042

VY00£~VOSE MRS 30

Nid LHOIVYLS 1NN 13AIY 30



